: | 5 ) 4 2 1

NOTE: DOUBLE TRACK Lo UP TO 22'-2” WIDE X 18’-0" HIGH REVISIONS
FOLLOV(I)-TI:lE—l;OOF TRACK, VA p M REV. NO.| ZONE: | DATE: ECN NO. | APPVD: DESCRIPTION
41 ARE AALABLE OPTIONS 57 04 - 08/2012 - - REVISED FOR TDI
] ARAck ALS0 AVALASE > HORIZONTAL TRACK SUPPORT BY MODELS 524, 520/ 224/ C4ST, COST -

DOOR INSTALLER (TO SUIT) INSULATED MODELS 524S, 520S, 524V/ 224S/ C4SS, COSS, C4SV 05 - 06/2013 - - REMOVED ACRYLIC GLAZING OPTION.

1° OVERLAP - 1 - - .
L IVERLAR OPTIONAL STOP MOULDING BY 06 08/2016 REMOVED WIND SPEED TABLE
DOOR INSTALLER (TD SUIT). 07 - 02/2022 - - REVISED FOR TDI.
3" GALV. TAPERED STEEL TRACK AND ANGLE,
TRACK THICKNESS: .101". ANGLE THICKNESS: .080" 16 GA, MIN, GALV. STEEL (END) STILE FASTENED
TO DOOR SKIN WITH TOG-L-LOC SYSTEM,
VERTICAL /HORIZONTAL TRACK 14" MAXIMUM SPACING ]
N JUNCTION. TWO 1/47 BOLTS |__ FROM LAST MOUNTING 18 GA. MIN. GALV, STEEL CINTERMEDIATE) STILE 3" TALL x 20 GA, GALV. STEEL (MIN. YIELD
z & NUTS FOR EACH TRACK. SLOT TO TRACK JUNCTION FASTENED TO DOOR SKIN WITH TDG-L-LOC SYSTEM, THIS PRODUCT COMPLIES STRENGTH SO0KSI> U-BAR. ATTACHED ONE AT
A L W e 30t /.
ri P
ADDITIONAL MOUNTING SLOTS REQUIRED FOR DOORS | ]
§ OVER 7'0" HIGH SPACED AT 12° CENTERS. SECTION B-B SCREWS PER STILE LOCATION,
4 F
. TR RATION -
. S T NUTACK CONFIGU SEE JAMB 14 GA. GALV. STEEL (CENTER) HINGE. (SEE VIEW “B")
4
& 4t AT EACH MOUNTING SLOT ILALTUTSATCRHAMTEIELS 7/16° PUSHNUT INSTALLED ON ROLLER SHAFT - ezggSTsl-\_?é.EEL T?ES"I?E&EI? DBEA%S; \EI/}I_T :‘2(3;\.
I - . ' ’
o SR #14x5/8" SHEET METAL SCREWS  AND TRACK 14 GA. GALV. STEEL (END> HINGE. (SEE VIEW ‘A" PANELS ROLL FORMED OF 022" e beE ] il SeRENSHC (S
% 1¥ DETAILS. MIN. HOT DIPPED G-40 BRACKETS PER SIDE>
£ 37 STEEL LONG STEM ROLLER GALVANIZING, ROLL FORMED
4"x3/4" SELF OPTIONAL ALUMINUM FULL VISION WINDOW LITE STEEL. oo 6"
HePiE scREWs. SECTIONS AVAILABLE, SINGLE PANE OR 6" C—CHANNEL P TioHL NEToE VIEW
. INSULATED. ALL PANES ANNEALED GLASS OR (KL NBEL BIRLARTI0 < 6" TALL C—CHANNEL
EVERY 12 STRONGER. SINGLE PANES 1/8" OR THICKER. 16 GA. GALV. STEEL 2-1/2"
14 GA, INTERMEDIATE HINGE " . . ——
| A'ITACH ON EACH HINGE AS SHOWN INSULATED WINDOWS 1/2" THICK, CONSISTING MIN YIELD STRENGTH SOKSI
L 10" (4 414 X 5/8" LG, SHT, MTL. SCREWS ATTACH ON EACH HINGE AS SHOWN OF (2) PANES 1/8" THICK. FULL VISION nen —
1 AND (2) 1/4'x3/4° SELF-TAPPING SCREWS. VITH (4) 1/4* X 5/B'SHEET METAL SCREWS SECTIONS TO HAVE SAME REINFORCEMENT AS VIEW "E” 5 /8"__I (-
&id VIEW A ViEw g U R ATTACH THE 6" x 2—1/4 12 GA. STEEL
3-1/2" : —1/4% REINFORCING PLATE TO THE UNDERSIDE OF THE (1) 67x16 GA. C—CHANNEL PER DOOR
C—CHANNEL WITH (4) 1/4"x3/4" SELF TAPPING SECTION. (1) 1/4"x3/4" SELF TAPPING
ADJUSTABLE TOP FOR CLARITY RIBS NOT SCREWS AT THESE (3) LOCATIONS. SCREW PER STILE LOCATION. (SEE VIEW “C")
DOOR HEIGHT ‘A¢ |NUMBER OF DOOR | ROLLER BRACKETS SHOWN ON BACK VIEW A=A
SECTIONS HEEIGEiI elia"
7—0° = INSIDE SLIDE BOLT v V. 4 4 7 & \
&3 THRY 100" : 9°-0"11007] M # & ] 7 W7 7 7 ||# R Ao a=ECTON 6" X 2-%" X 12GA. STEEL PLATE. SEE VIEW "E"
10'-3* THRU 12'-0* e 10-0"[112" SLIDE BOLT LOCK A—A FOR DETAILS 4 : .
123" THRU 14’0 7 12°—0"[136" ENGAGES INTO VERTICAL
14’-3° THRU 16-0* 8 14 —0" 50" TRACK. ONE LOCK ON gE—gﬁiguNEL‘ASEE
16°-3° THRU 18-0° 9 15°-07172 EAC0 3BE O BOOR: /— FOR DETAILS END HINGES OF MIN. 14 GA. GALV.
6—07]184 :
% EECTION HEGHT: s24- 15-onad, STEEL, FASTENED WITH (4) #14 X
. : 7 —0196 | TWO POINT 5/8” LG. SHT. MTL, SCREWS AND
18'—0]208 - - @ 1/4"x3/4° SELF-TAPPING
(MIN) LOCKING i - SCREWS. QTY-2 HINGES PER SIDE
THE OPTIONAL GLAZING SHOWN ON THIS DRAWING MEETS THE REQUIRED i i
WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE e — . . 6" C—CHANNEL STRAP;
OR INTERNATIONAL BUILDING CODE BUT DOES NOT MEET THE : (7) STRAPS PER
IMPACT RESISTANT REQUIREMENT FOR WINDBORNE DEBRIS 0g° ] ] i SECTION. OPTIONAL 1-174°WIDE X 16 GA. GALV. STRAP.
REGIONS (FBC / IBC CHAPTER 16). = (6= B FULL VISION SECTIONS EACH STRAP ATTACHED WITH (3) 1/4° X
HAVE (9) STRAPS PER 3/4" SELF TAPPING SCREWS. TwD
| I / " SECTION. SCREWS TO DOOR, ONE SCREW TO
3" ROLLER CARRIERJ e (3> CENTER HINGES PER SECTION I_ee,__| =5 GECHARNEL,
= re—— PART # 0120394.
S daia| [ ALLED w MOUNT WITH QTY 3 o
CONCRETE, BUT SELF DRILLING I 22°-2" MAX |
NOT REQUIRED. SCREWS AS SHOWN Z NOTE: BOTTOM ROLLER BRACKET DF 12 GA. MIN,
NUIL: GALV. STEEL, FASTENED WITH ¢4> #14 X
1o ;éﬂﬁm“ CENTER STILES ALWAYS 22" FROM CENTER TO CENTER. FOR 5/8° LG SHT MTL. SCREWS
ANY GIVEN DOOR WIDTH, DIMENSION 'B' THIS DIMENSION WILL
ELECTRODE MIN.), WELD et - BOTTOM SECTION REINFORCED WITH
5(’)‘ SA‘E‘GIL%%;EE‘WMLT STEEL JAMBS NOT BE GREATER THAN 23" OR LESS THAN 18 TEMPERED ALUMINUM EXTRUSION WITH
CENTER AND 1/4" TACK “12 GA GALV. REVERSE =/ —— INTEGRAL RETAINER FOR FLEXIBLE VINYL
WELD TOF OF ANGLE AT UOUNT TRACK. FASTENED | ANCHOR NOTE; FIRST (BOTTOM) ANCHOR STARTING AT NO MORE THAN HALF OF THE MAXIMUM ASTRAGAL
- DIRECTLY TO STEEL JAMB] ON—CENTER DISTANCE. HIGHEST ANCHOR INSTALLED AT LEAST AS HIGH AS THE DOOR OPENING. ESTERRELD, PE.
MARK Wi
CONCRETE JAMBS STEEL JAMBS WOOD_JAMBS FLORIDA P.E. No. 48495, SECTI —A (SIDE_VIEW
2,000 PSI MIN 2,000 PSI MIN 3/16" MIN. STEEL AT NC P.E. $23832, TEXAS P.E. #91513 CTION A-A (S EW)
S " — . /" Eused s scre | DESIGN LOADS: +30 & —30 P.S.F. [MANUFACTURING PRODUCT CODE:
D 2" EMB - ' i N
?M/N“ SLIEAEVE‘ b4 HOR 1/4"x1-1/2" MIN, MAY BE BACK-FILLED ;.étrx%;mua 20" MAX. 0.C. TO TEST LOADS: +45 & —45 P.S.F. MPC: C PAN 1E448
WASHER INCL'D. EMBED SELF-TAPPING WITH CONCRETE, BUT SCREW. 16 SECURE 2x6 wooD -+
| 7o S0RE Gue uaue T MNCHOR. | seLF TAPPING SCREW, MAX. O.C. 445 To. $00D Unless Stgtedétghermse a [:I 8385 Duke Boulevord CLOPAY WINDLOAD RATING
o B : — T0 SECURE . W - lason,
7O CSK 1T NEEDED. Yo SECURE ANGLE il it THE DESIGN OF THE AARK. #] WORTRI : n ay LA o g \/\/ 5
3° MIN, EDGE DIST. 1 70 CONCRETE. STEEL JAMB. gt_‘;:g:%"fs %Rg%“s';&gmuw CLOPAY CORP. 0 = j: 314 CORPO RATION Fox Nﬂ 513-770-4853
/ 3" MIN, EDGE DIST. or Tt suloi enees of | ALL RIGHTS RESERVED, (9181200 = 215 DESCRIPTION: COMMERCIAL RIBBED DOOR, +30/—30 PSF DESIGN LOAD
SOAGK TASTENED TO kb 2 OR TRACK. FASTENED 70308, 42 OR ARCHTECT o Recor Y, 000 =005 DRAWN BY: RIK DATE: 11/02/04 SCALE: NONE
X ~ . . -
BCTIER VELLOW PIE JALD WK VeRSE OR CONTINLOM BETIER YELLOW PINE JAME WITH Y ! 4D OPOO' ful 'i 10/021. . 11/ : DWG.
ONE 5/16"x1-5/8" LG, LAG REVERSE O S REVERSE OR CONTINUOUS ONE 5/16"x1—-5/8" LG. LAG = ees = . PR
ﬁgf:o':f“l TRA.%K [ IMGLE HOT TACK ANG{'EENE‘I?UJ‘;ETRACK %ﬁ%ﬁﬂz; TRA/CK e Third Angle .Unles(:gStuted il CHECKED BY: Mww DATE: SHEET 1t OF 1 [SIZE
g F IREC A . M
TO CONCRETE. 70 STEEL JAMB Projection DIMENSIONS ARE IN INCHES.|DWG. NO.: 103319 VER: TDI

4 3 o 2 1




